eSuUunra

create your energy

E Scan to get the user manual
. and installation video for

Y jJL% your solar panel kit
el

[=]=%% esunra.com

Moving towards
a greener tomorrow

Experience the forefront
of energy innovation with us

INSTALLATION GUIDE FOR
SOLAR PANEL BRACKETS:




Installation Guide




Installation Material

Solar panel front / Solar panel back /




0 P —

Installation Material

U - Clamps x4




Installation Material




Installation Material

UV Resistant Plastic Zip Ties x8

M8x80 H
Stainless Steel Zip Tie x4 /-. . .\ Flange eonalt%1 C;rjﬂr

Screw Fixed Slider x32 /

M8x20 Screw x4

M8xbb Hexagon
Flange Bolt x8




Installation Material

. = .‘ &, W/ ) T 1
i AC Connection Cable 5m | {I ﬁ _LD‘ =800 e
\ L Microinversor



Basic Installation



Basic Installation

Solar Panel




Basic Installation

M8x 16 Screw




Basic Installation

Q}A

Microinverter wall mounting - '
also available

Ny




|

-uun“
\

Balcony Solar Panel



Balcony Solar Panel

U-Shape Hook




Balcony Solar Panel




Balcony Solar Panel

Long Vertical
Support Bracket




Balcony Solar Panel




Balcony Solar Panel

Adjustable
Support Feet

&

M8x5b Hexagon

Flange Boli




Balcony Solar Panel




Balcony Solar Panel




Balcony Solar Panel

O




Wall Solar Panel




Wall Solar Panel

Long Vertical
Support Bracket




Wall Solar Panel

B M8x16 Screw™. *

Short__y,ej’r‘tq'/ééti sy
Support Bracket




Wall Solar Panel

M8 Expansion
Screw

Adjustable
Support Feet »

-l . rfia st f Tl e st dicd st v o dF 1 4,



Wall Solar Panel




Terrace Solar Panel




Terrace Solar Panel

[ ] Adjustable
\‘ Support Feet

Long Vertical
Support Bracket




Terrace Solar Panel

. Adjustabl
‘ '\.'X“Sup'port Feét,

- MBx55 Heyhgon,  *
" . Flasige Bolt" s

Short__y,ej’r‘tq'/ééti .
Support Bracket

N
N \




Terrace Solar Panel



Moving towards

a greener tomorrow
e S u n ra Experience the forefront

create your energy of energy innovation with us

INSTALLATION GUIDE FOR
SOLAR PANEL BRACKETS:

e BALCONY
e TERRACE
o WALL

E 1|_ E Scan to get the user manual
. and installation video for

.E'fjJ; your solar panel kit

| '
EFEE esunra.com



